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Dispiay the data in a scatterpiot. Use the jine of best fit to predict the answer, ;
i i
E Step 1 Plot the twelve data points starting with Study Time and Test Results ;
! the point {20, 64). A %
100 — g
Step 2 Draw a line of best fit through the points 95 -
| ' (50, 75y and (80, 90} to fit the pattern of . %0 i
| the data points. There is more than one % 85 —
‘ correct way to draw this line. 5 %0
37 ;
Step 3  Locate the point on the line of best fit 270 :
where time equals 70 minutes. b= 65
60
When the horizontal coordinate is 35
i 70, the vertical coordinate is about 0*? R A R et SR
i et D 10 20 30 40 56 60 70 80 90 00
i Time (minutes)
S i }
“i Sohtlon A student who studied for 70 minutes could expect a grade of about % |
t
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Gcatterplot p.36

Scatterplot - g graph made by plotting
ordered pairs to show the relationship
between two sets Of data

money earnhed

hours worked
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line Of best fit - g line that approXimates
the pattern Of the data points

money earhed /

hours worked
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positive Correlation hegative Correlation
slanting upward - both . Slanting downward - as

Sets Of data inCrease ohe set Of data

together. inCreases, the other

decreases
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Practice  Read each question and chaose the best answer.

1 The scatterplot below shows a
plant’s height over time,

Height (inches)

0 2 4 6 % 10
Time Since Purchase {(weeks)

Based on the graph, what is the best
prediction for the plant’s height after
ten weeks?

A 5.0 inches @.6 inches
B 5.8 inches 7.3 inches

2 The scatterplot below shows the
temperature over time.
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Which ordered pair describes a data
point on the scatterplot?

A (1,62) C (3,72)
B (2, 80) 4, 65)

102  Mathermatos » Leve! H

Copying 15 iliegal

3 Look at the scatterplot below.
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Homework

How many students missed twice as
many problems on the test as they dit
on the homework?

A 1 student @3 students
B 2 students D 4 students

4 The scatterplot shows the

relationship between the price of a
knife and its quality rating.

4 Ouality of Chel™s Enives

Quality Rating
—e [T PYR S Y

o

B 20 30 40 50 60 7O
Price of Knife (dollars)

What rating would you expect for a
$50 knife? 5

A2 C5

B 1 @

Measartng Vpe o the Virginia Standards of Learning
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1 Which of the following statements
best describes a scatterplot?

A A scatterplot shows how one part of
the data compares to the whole.

B A scatterplot shows how a quantity
changes over time,

C A scatterplot shows the number of
times each item in a data set occurs.

D A scatterpiot shows the relationship
etween two sets of data.

2 Which of the following statements
can be interpreted from the
scatterplot below?

Weights & Heights
of Babies

g |-

Weight {Ib)
5

8 |-——e— ; S
¥i .._._;_!_______.. Jor e adman
0

fv- 20 21 22 2I3 24 25 26
Height (in.)

@'he weight of a baby is influenced by
its height.

B Shorter babies weigh more than
taller babies.

C There is no relationship between the
height and weight of a baby.

D There is a negative trend between
height and weight.

104 Mathematics » Level H

Gopying is illega!.

March 12, 2018

Read each question and choose the best answer,

3 What does a line drawn to fit the
points in a scatterplot show if
it starts near {0, 20) and slopes

diagonally downward?

pasitive trend 9 \3
@ negative trend L/

€ No trend

D The two sets of data are not related.

4 The scatterplot below can be used to
argue which of the following?

20 Shots from
;{)arious Distances

Baskets Made
)

5 1015202530
Distance (in feet}

A The distance you shoot from has no
effect on shooting accuracy.

B You will make more baskets the
farther from the basket you shoot.
C You will make fewer baskets the
closer to the basket you shoot.
@You will make more baskets the closer
to the basket you shoot.

Messuring Lpe to the Viginia Standards of Learning
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What Is the Store Policy at Plastic Mart?

Survey Results: What is your favorite kind of pie?

Write the letter of each exercise in the box for that answer,

Favorite Kind of Pie

March 12, 2018

The “pie chart” shows how 175 people responded to
this question.

E. What percent of those surveyed chose apple?

How many people chose apple?
L. How many people chose cherry?

What is the measure of the central angle for the
“Lemon meringue” sector?

What is the measure of the central angle for the
“Banana cream” sector?

What is the sum of the central angle measures in
any circle graph?

What's in the average American's trash can? The
average American throws away about 1800 Ib of trash
per year. The graph shows the makeup of that trash.

Lemon meringue
327

32 X36D

Trash in America

L. What percent of the trash is plastic?
N. How many pounds of glass are thrown away by
the average American each year? S “_
astic
A. How many pounds of paper are thrown away by
the average American each year? Glass
E. What is the measure of the central angle for the o
“Yard waste” sector?
L. What is the measure of the central angle for the Yafl‘g,‘f aste
“Glass” sector? ’
R. What is the sum of the percents in any circle graph?
What is the source of our power? The chart
shows the sources of U.S. electricity in a recent Source Percent
year. In a circle graph of this data, what is the Nuclear power 219
central angle measure for each of the following: Coal 56.3
§. The "Nuclear power” sector? Oil 3.3
Y. The "Coal” sector? Hydroelectric power| 8.5
L. The "Oil" sector? Natural gas 9.4
V. The "Other” sector? Other 0.6
360" &% 79° 12° 15 758 Ib 24% z 144 ib 25
@ O
29’ ©89 b 42 65" 15° 100% &% 52 203
PUNCHLINE » Bridge to Algebra Statistics and Probability:
@2001 Marcy Mathworks * 104 » Circle Graphs



1_analyze data_scatterplots.notebook

March 12, 2018

Whai‘ Do You &eﬂl’ han You (ross ﬂm Atiantic wrth the Tifam?

{. Practice times [or five swimmers in the

- : 5 ) T )
BO-meter freestyie are given in the table. Trial 1 Tr"fi 2 T"a: 3 Trial4
Find the following: Name (s} (s) B {s} (s) 3
a. The mean of Mike's limes. Mike 34.1 338 305 316
b. The mean of Jason's times. Alarn 395 3353 940 338
¢ The meuan of the times on Trial | Jasen 417 40.0 892 884
d. The median of Ryan's times. Scoit 294 294  31.0 318
. The median of the times on Trial 4. .
¢ The median of the times Ryan 33.8 32.5 338 33.4
£ The mode of all 20 times in the table.
2. The weekly salary loy o 3. The mean weight of 32 math students
L . Weekly No. of ety . : .
10 people is given in Salary Peopie is 98.3 ib. I the students could all
the table. Find: starnd on the scale together, what
. o S3400 i would their total weight be?
¢. The mean salary. .
800 1 cuare E - sold 869 pies
b. The median salary. o ‘ 4. The Pie Arsquare Bakery sold 869 pies
Ay 5600 3 during the month of January. What
& The mode of the 4500 5 was ihe mean number of pies sold per
salaries. e—— day?

5. Julie has taken 5 lests in science this 6. On his trip to the mountains, Klink
semester. On the first three tests, her drove for 3 hours at an average speed
mean score was 70%. On the last two of 50 mph, then for 2 hours at an
tests, her mean score was 90%. What average speed of 30 mph. Whal was
is the mean of all five scores? his average speed for the entire trip?

7. As an experiment, rTossfng 3 Coins: } &. Marissa has taken four 100-point
Rex tossed 3 coins Number of Heads tests in math this semester. Her
together and counted - mearn score s 899,
the number of heads, | 2{0|2]3]2 )

He repeated the 113l2{o0f1 a. How many points has she s‘tj;'.ored
experiment 25 times. | o |9 11119 altogether on the four tests?

The outcomes arc olaiilal b. What score does she need on test
given in the lable.( ' #5 so that the mean of all five
What is the mode? 2/11112]13 scores will be 90%7?
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